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*����+!��"��$��& %�  & �*��*�,�	������ !"#$��$�%&$�'
	
�D��
��,���
)��<
�>�
�
����,� ��&'��'������-�0#�<>�����
����� 03

�� 
�����
��#�&�� ��," ����,�(��%�#�
>  1 .12  �'��� � I���  L��L��#�(�" �'E�'�)-%@��   
34.84 �,��,��#�/�,-���#� -0&(�� �%� &��� �%� &�)&����� �%�(�"&���'��"%�F�� 38.91, 972.88
&�) 152.61 �,��,��#�/�,-���#��
��=
�#3 &�)��
��'E����-��
�����,� 5.74 �)���
��
�
(����F��3=
�>����-�%�
����'>O%���� 15-15-15 �#��
 1 �,-���#�/��� &�)�����
����������'>O%
���� 8-24-24 �#��
 1 �,-���#�/��� &�)��#��
��#�&����,"�03��
�� '�,�
*�,�(��%�#�
>�0,"��!$��'E� 
1.98 �'���� I��� L��L��#�(�"�'E�'�)-%@��&�)-0&(�� �%�(�"&���'��"%�F���0,"��!$��(�
�#3 
 54.71 &�) 46.00 �,��,��#�/�,-���#��
��=
�#3 &����'�,�
*&��� �%�&�)&����� �%�(�"&��
�'��"%�F�������(�
�#3 299.00 &�) 100.00 �,��,��#�/�,-���#��
��=
�#3 ��
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�(�����%�����)�#3���
)�� &�)��#��
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)�� 
(26-42 �,��,��#�/�,-���#�) -0&(�� �%� &�)&��� �%�(�"&���'��"%�F��(#$�����&�)��#��
�(����
����
�"=
���
�)�#3��
����
)�� (130 &�) 1,040 �,��,��#�/�,-���#��
��=
�#3) &����� �%�(�"
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�(��������
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   ���
                 �,�(��%�#�
>     P (�"�'E�'�)-%@��        K          Ca            Mg             pH
                                     (%)         (�,��,��#�/�,-���#�)         (�,��,��#�/�,-���#�)            1:5 H2O
�����
��#�&����,"�          1.12              34.84              38.91     972.88     152.61           5.74
��#��
��#�&����,"�           1.98              54.71             46.00      299.00    100.00           5.43
�)�#3��
����
)�� * 2.5-3.0             26-42             130         1,040        135           6.0-7.0
* : �#�&'��	
� �#�(�#��� (2546)
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�D��
��,���
)��'�,�
*�
��-3FK���� F�-���	� &�)�#��������

�
��-3FK�������F�-���	� (C/N ratio) ���,"����-�0#�<>�����
�����&%��
��#��*)�,"� (�

�
�(�" 4) 03��
 '�,�
*�
��-3FK�������,"�&��&�)�,"��!"�&���!"���������
�&����
��#�(
��
,�,
�%�
����#%�=
�#�%,"� -�%�,"�&����'�,�
*�
��-3FK�����(�
�#3 18.33 �'���� I��� &�)�,"��!"�&���!"�
������'�,�
*�
��-3FK�����(�
�#3 13.56 �'���� I��� �=
��#3'�,�
*F�-���	����,"�&��&�)�,"��!"�
&���!"����� 03��
 F������
�&����
��#�(
��
,�, -�%�,"�&����'�,�
*F�-���	��(�
�#3  
1.36 �'���� I��� &�)�,"��!"�&���!"�������'�,�
*F�-���	��(�
�#3 1.23 �'���� I��� �=
��#3��
 
C/N ratio  03��
 ����
�&����
��#�(
��
,�,�%�
����#%�=
�#�%,"� -�%��
 C/N ratio ����,"�&��  
����
���
!� 13.54 ���*)(�"��
 C/N ratio ����,"��!"�&���!"������9� 11.10

�������� 4 '�,�
*<
�>�
�
��
��-3FK���� F�-���	� &�)�#�����<
�>�
�
��
��-3FK����&�)
F�-���	����,"�&�� &�)�,"��!"�&���!"�����������-�0#�<>�����
�������@���(�"������
�
��������I�(�"

         '�)�/(�,"�          �
��-3FK����      F�-���	� �#������
��-3FK����       
   (%)                           (%)                    &�)F�-���	�

              �,"�&��             18.33                  1.36          13.54
              �,"��!"�&���!"�����            13.56                               1.23                        11.10       

   F-test                **            ns             **
               LSD0.05  1.58    0.09           1.27

   LSD0.01              2.40         0.14           1.92

**   &����
�(
��
,�,�%�
����#%�=
�#�%,"�
ns  F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.01
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1. ����������%��'��������0(�&��'����� �'�������������������1���  ���������%��
���	������ !"#$��$�%&$�'  

1.1 *����������"'�
���)%)�����
��#�&����,"�&�)F���3����,"� '�,�
��(��0>�����(>�(������������


F��&����
��#�(
��
,�, ��#�	
��
��#�&����,"�&�)F���3����,"�&��� 1 �#'�
�� '�
�H��
'�,�
��
(��0>��&����
��#�(
��
,�,�%�
����#%�=
�#�%,"� -�%(��������(�"F���#�&����,"�&��&�)F���3�
�
<���@
�,��'�,�
��(��0>������>� 39.05 ���3
������� ������
 F��&�� (��������(�"F���#�&����,"�
&��&�)F���3 70 �3����,"� F���#�&����,"�&��&�)F���3 50 �3����,"� F���#�&����,"�&��&�)F���3 30 �3
����,"� �#�&����,"�&��&�)F���3 70 �3����,"�&�)�#�&����,"�&��&�)F���3 50 �3����,"� (�"��'�,�
��(��
0>���(�
�#3 37.65, 36.81, 35.95, 32.60 &�) 30.85 ���3
��������
��=
�#3 &�)(��������(�"�#�
&����,"�&��&�)F���3 30 �3����,"���'�,�
��(��0>���"=
�>��(�
�#3 30.06 ���3
������� (�
�
�(�" 5)

�������� 5  '�,�
��(��0>�����������-�0#�<>�����
����� (�"���
��#�&����,"�&�)F���3����,"�&��
��
��#����)%)����&�)��#��
��#�&����,"�

**    &����
�(
��
,�,�%�
����#%�=
�#�%,"�
ns   F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.01

'�,�
��(��0>�� (�3.�.)
(��������

�����#�&����,"� ��#��#�&����,"�

F���#�&����,"�&��  &�)F���3�
�<���@
�,  (T1) 38.84 39.05
F���#�&����,"�&��  &�)F���3  70  �3����,"�  (T2) 39.36 37.65
F���#�&����,"�&��  &�)F���3  50  �3����,"�  (T3) 39.72 36.81
F���#�&����,"�&��  &�)F���3  30  �3����,"�  (T4) 38.01         35.95

   �#�&����,"�&��  &�)F���3  70  �3����,"�  (T5) 38.04 32.60
   �#�&����,"�&��  &�)F���3  50  �3����,"�  (T6) 37.96 30.85
   �#�&����,"�&��  &�)F���3  30  �3����,"�  (T7) 37.55 30.06

F-test ns **
LSD0.05 2.28 0.99
LSD0.01 3.37 1.70
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1.2 �45 �����(����"'�
���)%)�����
��#�&����,"�&�)F���3����,"� 09$�(�"D,�(��0>�����(>� (������������


F��&����
��#�(
��
,�, ��#�	
��
��#�&����,"� &�)F���3����,"�&��� 1 �#'�
�� '�
�H��
 09$�(�"D,�
(��0>��&����
��#�(
��
,�,�%�
����#%�=
�#�%,"� -�%(��������(�"F���#�&����,"�&��&�)F���3�
�
<���@
�, ��09$�(�"D,�(��0>������>� 33.41 �
�
����� ������
F��&�� (��������(�"F���#�&����,"�&��
&�)F���3 70 �3����,"� F���#�&����,"�&��&�)F���3 50 �3����,"� F���#�&����,"�&��&�)F���3 30 �3���
�,"� �#�&����,"�&��&�)F���3 70 �3����,"� &�) �#�&����,"�&��&�)F���3 50 �3����,"� (�"��09$�(�"D,�(��0>��
�J��"%�(�
�#3 33.65, 32.44, 30.54, 28.64 &�) 26.86 �
�
������
��=
�#3 &�) (��������(�"�#�
&����,"�&��&�)F���3 30 �3����,"� ��09$�(�"D,�(��0>���"=
�>��(�
�#3 25.25 �
�
����� (�
�
�(�" 6)

�������� 6  09$�(�"D,�(��0>�����������-�0#�<>�����
����� (�"���
��#�&����,"�&�)F���3&����
�
�#����)%)����&�)��#��
��#�&����,"�

**    &����
�(
��
,�,�%�
����#%�=
�#�%,"�
ns   F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.01

09$�(�"D,�(��0>�� (��.�.)
(��������

�����#�&����,"� ��#��#�&����,"�

F���#�&����,"�&��  &�)F���3�
�<���@
�,  (T1) 33.71 33.41
F���#�&����,"�&��  &�)F���3  70  �3����,"�  (T2) 35.06 33.65
F���#�&����,"�&��  &�)F���3  50  �3����,"�  (T3) 34.43 32.44
F���#�&����,"�&��  &�)F���3  30  �3����,"�  (T4) 33.13 30.54

   �#�&����,"�&��  &�)F���3  70  �3����,"�  (T5) 34.11 28.64
   �#�&����,"�&��  &�)F���3  50  �3����,"�  (T6) 33.81 26.86
   �#�&����,"�&��  &�)F���3  30  �3����,"�  (T7) 33.83 25.25

F-test ns **
LSD0.05 4.21 0.72
LSD0.01 6.23 1.07
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1.3 *����+�	�
�6& ����"'�
���)%)�����
��#�&����,"� &�)F���3����,"� '�,�
*&��/
%��(��0>��F������
�

&����
��#�(
��
,�, ��#�	
��
��#�&����,"� &�)F���3����,"�&���'�
�H��
'�,�
*&��/
%��(��
0>�����(>�(���������0,"��!$�&�)&����
��#�(
��
,�,�%�
����#%�=
�#�%,"� -�%(��������(�"�#�&���
�,"�&��&�)F���3 30 �3����,"� ��'�,�
*&��/
%��(��0>������>� 1522 F�-��-��/�
�
�����/
�,�
(� ������
F��&�� (��������(�"�#�&����,"�&��&�)F���3 50 �3����,"� �#�&����,"�&��&�)F���3 
70 �3����,"� F���#�&����,"�&��&�)F���3 30 �3����,"� F���#�&����,"�&��&�)F���3 50 �3����,"� &�)F��
�#�&����,"�&��&�)F���3 70 �3����,"� (�"��'�,�
*&��/
%��(��0>���J��"%�(�
�#3 1434, 1395, 
1218, 1021 &�) 906 F�-��-��/�
�
�����/�,�
(��
��=
�#3 �=
��#3(��������(�"F���#�&����,"�&��
&�)F���3�
�<���@
�, ��'�,�
*&��/
%��(��0>���"=
�>��(�
�#3 686 F�-��-��/�
�
�����/
�,�
(� (�
�
�(�" 7)

�������� 7  '�,�
*&��/
%��(��0>�����������-�0#�<>�����
�����(�"���
��#�&����,"�&�)F���3
&����
��#� ���)%)����&�)��#��
��#�&����,"�

**    &����
�(
��
,�,�%�
����#%�=
�#�%,"�
ns   F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.01

'�,�
*&��/
%��(��0>�� (F�-��-��/��. �./ �.)
(��������

�����#�&����,"� ��#��#�&����,"�

F���#�&����,"�&��  &�)F���3�
�<���@
�,  (T1) 571 686
F���#�&����,"�&��  &�)F���3  70  �3����,"�  (T2) 631 906
F���#�&����,"�&��  &�)F���3  50  �3����,"�  (T3) 576 1021
F���#�&����,"�&��  &�)F���3  30  �3����,"�  (T4) 648 1218

    �#�&����,"�&��  &�)F���3  70  �3����,"�  (T5) 580 1395
    �#�&����,"�&��  &�)F���3  50  �3����,"�  (T6) 614  1434
    �#�&����,"�&��  &�)F���3  30  �3����,"�  (T7) 617 1522

F-test ns **
LSD0.05 154.00 111.33
LSD0.01 227.91 164.76
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1.4 ������%��
�
��!��
D�����
��#�&����,"�&��&�)�
�F���3����,"� ����
�������������-�

0#�<>�����
����� (/
0(�" 7) 03��
 ���)%)��#�	
��
��#�&����,"�&��&�)F���3����,"�&��� (=
���
�
�������������-�C &����
��#�(
��
,�,�%�
����#%�=
�#�%,"� (��������(�"F���#�&����,"�&��&�)
F���3����,"� ����>�������%� ���
�����������>� -�%(��������(�"F���#�&����,"�&��&�)F���3 70 �3���
�,"� ���
�����������>� 44.98 �'���� I��� ������
F��&�� (��������(�"F���#�&����,"�&��&�)F���3 
50 �3����,"� &�)F���#�&����,"�&��&�)F���3 30 �3����,"� (�"��'�,�
*�
������� 37.11 &�)
32.11 �'���� I����
��=
�#3 ���*)(�"(��������(�"F���#�&����,"�&�� &�)F���3�
�<���@
�, ���$=
��,� 
��'�,�
*�
������� 26.56 �'���� I��� �=
��#3(��������(�"�#�&����,"�&��&�)F���3����,"� ����>��
��@�0� ��'�,�
*�
��������"=
�>� -�%(��������(�"�#�&����,"�&��&�)F���3 70 �3����,"� ���
����
��� 18.56 �'���� I��� ������
F��&��(��������(�"�#�&����,"�&��&�)F���3 50 �3����,"� &�) �#�&���
�,"�&��&�)F���3 30 �3����,"� (�"��'�,�
*�
������� 9.64 &�) 5.11 �'���� I����
��=
�#3 ����
���%���
�&��%����������
�'E�	=
����
� ��(����������>����$


����� 7  �'���� I����
����������������-�0#�<>�����
����� (�"���
��#�&����,"�&��&�)F���3
����,"�&����
��#�

LSD0.05     = 2.81
LSD0.01    = 4.16
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2. ����������	'( ���0(�&��'��� ������'�8"+
�����������	������ !"#$��$�%&$�'
2.1 �������������������

�#$�&���)%)��,"��,�D�����9��0A�/
��	���)(#"�D�&������9��0A�	,�
%� �@�
���
(#$���� 26 �#'�
�� ��9"��
%> 6 �#'�
������9���,
>�
%� D�������,"����
��	�,���,3-��0,"��!$�
&����
�D���&���)(��������F������
�&����
��#�(
��
,�, ��9"��
%> 10 �#'�
������9��
���m
�� &�) 14 �#'�
������9���,��
�� ��
�D���&���)(�������� ����
�&����
��#�(
�
�
,�,�%�
����#%�=
�#� -�%���#'�
��(�" 10 �#��
�����
�F���3 110 �3���D� ����
�D�����>��(�

�#3 12.21 � ��,���� ������
F��&���#��
�����
�F���3 70 �3���D� &�)F���3���D��
�<���
@
�, 130 �3���D� (�"����
�D��(�
�#3 11.05 &�) 10.72 � ��,���� �
��=
�#3 �*)(�"�#��
����
�
�F���3 150 �3���D� ����
�D��"=
�>��(�
�#3 10.05 � ��,����&�)���#'�
��(�" 14 
�I���#��*)�
��	�,���,3-����D�F'��(
����%��#� ��#�	
��#$���9"�D����-�C ���
%>�0,"��!$��'E� 
18, 22 &�) 26�#'�
�� &���)(��������%#�������
�D��0,"��!$�&��F������
�&����
��#�(
��
,�, 
&�)��&��-�����
(��������(�"���#��
�����
�F���3 110 �3���D� %#�������
��
�D�����>� �����
�
F��&�� �#��
�����
�F���3 70 �3���D� F���3���D��
�<���@
�, &�)�#��
�����
�F���3 150 
�3���D��
��=
�#3 (/
0(�" 8)

��9"��'��%3�(�%3�#��
�
��	�,���,3-����D� ���-�0#�<>�����
�����&3���'E� 
2 @����9� @���&�����)%) 6-14 �#'�
����#����3
� 03��
 �#��
�
��	�,���,3-����D�����
�
&����
��#�(
��
,�,�%�
����#%�=
�#� -�%(��������(�"���#��
�����
�F���3 110 �3���D� ���#��

�
��	�,���,3-����D�����>��(�
�#3 3.1 � ��,����/��9�� ������
�9��#��
�����
�F���3 70 �3
���D�&�)F���3���D��
�<���@
�, 130 �3���D� (�"���#��
�
��	�,���,3-����D��(�
�#3 
2.50 &�) 2.3 � ��,����/��9�� �
��=
�#3 &�)�#��
�����
�F���3 150 �3���D� ���#��
�
�
�	�,���,3-����D��"=
�>��(�
�#3 2.29 � ��,����/��9�� �=
��#3@�����#����)%) 14-26 �#'�
��
��#����3
� 03��
�#��
�
��	�,���,3-����D�����
�&����
��#�(
��
,�,�%�
����#%�=
�#��@��
���%��#� -�%(��������(�"���#��
�����
�F���3���D��
�<���@
�, 130 �3���D� &�)�#��
����
�
�F���3 150 �3���D� ���#��
�
��	�,���,3-����D�����>��(�
�#��9� 1.44 � ��,����/��9�� ���
���
�9��#��
�����
�F�� �3 70 �3���D� (�"���#��
�
��	�,���,3-����D��(�
�#3 
1.41 � ��,����/��9�� &�)�#��
�����
�F���3 110 �3���D� ���#��
�
��	�,���,3-����D��"=
�>�
�(�
�#3 1.05 � ��,����/��9�� (�
�
�(�" 8)
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 �./�#'�
��


����� 8  �
��	�,���,3-����D����-�0#�<>�����
�����(�"���#��
�����
�F���3���D���
��#� �#$�
&��D��
%> 6 - 26 �#'�
����#����3
�

*    &����
�(
��
,�,�%�
����#%�=
�#�
ns   F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.05

�������� 8 �#��
�
��	�,���,3-����D� (FGR; � ��,����/�#'�
��) ���-�0#�<>�����
�����(�"��
�#��
�����
�F���3���D���
��#����)%) 6-14 &�)14-26 �#'�
����#����3
�

�)%)���
(�"
�!��
 (�#'�
��)

@>���3
�>�

150
�3���D�

110
�3���D�

70
�3���D�

F-test C.V.(%)

6-14 2.30 2.29 3.10 2.50 * 8.63

 14-28 1.44 1.44 1.05 1.41 * 1.34

*    &����
�(
��
,�,�%�
����#%�=
�#�

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.05

26 �#'�
��

ns

22 �#'�
��

ns
18 �#'�
��

ns
14 �#'�
��

*10 �#'�
��

*6 �#'�
��

ns

0

3

6

9

12

15

18

21

�,.%. �.�. �.�. �.%. �.�. 0.%.

F���3���D��
�<���@
�, 150 �3/D� 110 �3/D� 70 �3/D�

��9�� (2548)

��

�
D�

 (�
 �

�,�
��

�)
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2.2 8"+
��������
��9"�D����-�0#�<>�����
�����&��	#����
%>��3 26 �#'�
����#����3
� &�)F��

(=
�
���I3���"%�D��09"��=
�
���	�#��>*/
0D�D�,�����
���
�r '�
�HD��#����F'��$

2.2.1 8"+
���������;��*����+
2.2.1.1 � �%��

�#��
�����
�F���3���D���(>�(��������F��(=
�����
�D�������-�0#�<>����
�
���������
�&����
��#�(
��
,�, -�%(��������(�"���#��
�����
�F���3 70 �3���D� ����
�
D�������
(���������9"�r �(�
�#3 17.65 � ��,���� ������
F��&�� (��������(�"���#��
�����
�F��
�3 110 �3���D� &�)F���3���D��
�<���@
�, 130 �3���D� (�"����
�D��(�
�#3 17.47 &�) 
16.62 � ��,���� �
��=
�#3 �=
��#3(��������(�"���#��
�����
�F���3 150 �3���D� ����
�D�
�(�
�#3 16.05 � ��,����  !"���I����
(���������9"�r (�
�
�(�" 9)

2.2.1.2  51�$ ����
�#��
�����
�F���3���D���(>�(�������� F��(=
����$=
��#�D�������-�0#�<>����

�
���������
�&����
��#�(
��
,�, &��(��������(�"���#��
�����
�F���3 110 �3���D� ���$=
��#�
D�������
(���������9"�r �9� 1882.64 ��#� ������
F��&�� (��������(�"���#��
�����
�F���3  
70 �3���D� &�)F���3���D��
�<���@
�, 130 �3���D� (�"���$=
��#�D��(�
�#3 1847.95 &�) 
1648.85 ��#��
��=
�#3 �=
��#3(��������(�"���#��
�����
�F���3 150 �3���D� ���$=
��#�D��(�

�#3 1538.38 ��#�  !"��"=
���
(���������9"�r (�
�
�(�" 9)       

    
2.2.1.3 *����+� 45���

�#��
�����
�F���3���D���(>�(��������F��(=
���'�,�
*��9$�D�������-����
0#�<>��
���������
�&����
��#�(
��
,�, &��(��������(�"���#��
�����
�F���3 70 �3���D� ��
'�,�
*��9$�D�������
(���������9"�r �9� 39.57 �'���� I��� ������
F��&�� (��������(�"���#��
����
�
�F���3 110 �3���D� &�)F���3���D��
�<���@
�, 130 �3���D� (�"��'�,�
*��9$�D��(�
�#3 
37.37 &�) 33.93 �'���� I����
��=
�#3 �=
��#3(��������(�"���#��
�����
�F���3 150 �3���D� ��
'�,�
*��9$�D��(�
�#3 33.13 �'���� I���  !"��"=
���
(���������9"�r (�
�
�(�" 9)
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2.2.1.4 8(��$ ��*�4��
�#��
�����
�F���3���D���(>�(�������� F��(=
�����
���
�'�9�����D����-�

0#�<>�����
���������
�&����
��#�(
��
,�, &��(��������(�"���#��
�����
�F���3 150 �3���D� 
����
���
�'�9��������
(���������9"�r �9� 3.01 � ��,���� ������
F��&�� F���3���D��
�
<���@
�, 130 �3���D� (�"����
���
�'�9���(�
�#3 2.80 � ��,���� &�)(��������(�"���#��
����
�
�F���3 110 �3���D� &�) 70 �3���D� ����
���
�'�9���(�
�#� &�)����
�(�
�#3 
2.68 � ��,����  !"��"=
���
(���������9"�r (�
�
�(�" 9)

�������� 9  D�����#��
�����
�F���3���D� ����>*/
0D�D�,��@,�'�,�
*������-�0#�<>� 
����
�����

 �>*/
0D�D�,��@,�'�,�
*

��
�D� �$=
��#�D� '�,�
*��9$�D� ��
���
�'�9��
( �.) (�.) (%) ( �.)

�
�<���@
�, (130 �3���D�) 16.62 1648.85 33.93 2.8
150 �3���D� 16.05 1538.38 33.13 3.01
110 �3���D� 17.47 1882.64 37.37 2.68
  70 �3���D� 17.65 1847.95 39.57 2.68

F-test ns ns ns ns
C.V. (%) 7.17 18.71 14.8 11.25
LSD0.05 2.20 603.97 10.06 0.59

ns   F������
�&����
��#�(
��
,�,

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.05

(��������
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�
��'��%3�(�%3�>*/
0D�D�,��@,�'�,�
*������-�0#�<>�����
�����(�"��
�#��
�����
�F���3���D���
�r �'E���
���%�) �#3�
�F���3���D��
�<���@
�, 130 �3���D� 03
��
 �#��
�����
�F���3 70 &�) 110 �3���D� (=
�����
�D� �$=
��#�D� &�)'�,�
*��9$�D�����

���%�)������
�
�F���3���D��
�<���@
�, 130 �3���D� &������
���
�'�9���"=
���
 ���*)(�"
�#��
�����
�F���3 150 �3���D� (=
�����
�D� �$=
��#�D� &�)'�,�
*��9$�D�����
���%�)�"=

���
�
�F�� �3���D��
�<���@
�,  130 �3���D� &������
���
�'�9���
����

(�
�
�(�" 10)

�������� 10 �'��%3�(�%3�>*/
0D�D�,��@,�'�,�
*������-�0#�<>�����
�����(�"���#��
����
�
�F���3���D���
�r �#� �#3�#��
�����
�F���3���D��
�<���@
�,

(��������
��
(�"�!��
 130 �3���D� 150 �3���D� 110 �3���D� 70 �3���D�

16.62 16.05 17.47 17.65��
�D� ( �.)
���%�)�
���3���� (100) (97) (105) (106)

1648.00 1538.00 1882.00 1847.00�$=
��#�D� (�.)
���%�)�
���3���� (100) (93) (114) (112)

33.93 33.13 37.37 39.57'�,�
*��9$�D� (%)
���%�)�
���3���� (100) (97) (109) (118)

2.80 3.01 2.68 2.68��
���
�'�9�� ( �.)
���%�)�
���3���� (100) (108) (96) (96)

��
%���> : ��
������I3 �9����%�) ��9��#@���
���3������9"��(�%3�#3�
�F���3���D��
�<���@
�,           
130 �3���D�
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2.2.2 8"+
���������;��8"+
��
2.2.2.1 *����+��%���0�����0%� (TA)

�#��
�����
�F���3���D���(>�(��������(=
���'�,�
*���(�"F(�(��F��&����
�
�#�(
��
,�,�%�
����#%�=
�#� -�%(��������(�"���#��
�����
�F���3���D��
�<���@
�, 130 �3���
D� ��'�,�
*���(�"F(�(��F������>��(�
�#3 0.757 �'���� I��� ������
�9� (��������(�"���#��
����
�
�F���3 150 &�) 110 �3���D� (�"��'�,�
*���(�"F(�(��F���(�
�#3 0.747 &�) 
0.672 �'���� I����
��=
�#3 �=
��#3(��������(�"���#��
�����
�F���3 70 �3���D� ��'�,�
*���(�"
F(�(��F���"=
�>��(�
�#3 0.649 �'���� I��� (�
�
�(�" 11)

2.2.2.2 *����+�����B��������6 51�0%� (TSS)
�#��
�����
�F���3���D���(>�(��������(=
���'�,�
*���&�I�(�"�)�
%�$=
F��

&����
��#�(
��
,�,�%�
����#%�=
�#� -�%(��������(�"���#��
�����
�F���3 70 �3���D� ��'�,�
*
���&�I�(�"�)�
%�$=
F������>��(�
�#3 10.33 ���
3�,� � ������
�9�(��������(�"���#��
�����
�F��
�3 110 �3���D� &�)F���3���D��
�<���@
�, 130 �3���D� (�"��'�,�
*���&�I�(�"�)�
%�$=
F��
�(�
�#3 9.67 &�) 8.93 ���
3�,� ��
��=
�#3 �*)(�"(��������(�"���#��
�����
�F���3 150 �3���
D� ��'�,�
*���&�I�(�"�)�
%�$=
F���"=
�>��(�
�#3 8.73 ���
3�,� � (�
�
�(�" 11)

2.2.2.3 	�%	'( *����+�����B��������6 51�0%� �'�*����+��%���0�����0%�
(TSS/TA)

�#��
�����
�F���3���D���(>�(��������(=
����#�����'�,�
*���&�I�(�"�)�
%
�$=
F�����'�,�
*���(�"F(�(��F��&����
��#�(
��
,�,�%�
����#%�=
�#� -�%(��������(�"���#��
����
�
�F���3 70 �3���D� ���#�����'�,�
*���&�I�(�"�)�
%�$=
F�����'�,�
*���(�"F(�(��F������>�
�(�
�#3 16.09 ������
F��&�� (��������(�"���#��
�����
�F���3 110 �3���D� &�)F���3���D��
�
<���@
�, 130 �3���D� (�"���#�����'�,�
*���&�I�(�"�)�
%�$=
F�����'�,�
*���(�"F(�(��F���(�

�#3 14.43 &�) 11.76 �
��=
�#3 �=
��#3(��������(�"���#��
�����
�F���3 150 �3���D� (=
�����
�#�����'�,�
*���&�I�(�"�)�
%�$=
F�����'�,�
*���(�"F(�(��F���"=
�>��(�
�#3 11.65 
(�
�
�(�" 11)
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�������� 11  D�����#��
�����
�F���3���D� ����>*/
0D�D�,��@,��>*/
0 ������-�0#�<>�
����
�����

 �>*/
0D�D�,��@,��>*/
0

(�������� TA1 TSS2 TSS/TA3

 (%) (���
3�,� �)  

�
�<���@
�, (130 �3���D�) 0.76 8.94        11.76
150 �3���D� 0.75 8.74        11.65
110 �3���D� 0.67 9.67        14.43
  70 �3���D� 0.65 10.34        16.09

F-test * *            *
C.V. (%) 8.20 5.29         6.60
LSD0.05 0.07 0.94         1.64

*    &����
�(
��
,�,�%�
����#%�=
�#�

�'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.05

��
%���>   1         TA      �9�  '�,�
*���(�"F(�(��F�� (%)

               2       TSS     �9�  '�,�
*���&�I�(�"�)�
%�$=
F�� ( oBrix )

   3     TSS/TA  �9�  �#�����'�,�
*���&�I�(�"�)�
%�$=
F�����'�,�
*���&�I�(�"�)�
%�$=
F��

�
��'��%3�(�%3�>*/
0D�D�,��@,��>*/
0������-�0#�<>�����
����� (�"��
�#��
�����
�F���3���D���
��#� �'E���
���%�) �#3�
�F���3���D��
�<���@
�, 130 �3���D� 
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�������� 12 �'��%3�(�%3�>*/
0D�D�,��@,��>*/
0������-�0#�<>�����
����� (�"���#��
����
�
�F���3���D���
�r �#� �#3�#��
�����
�F���3���D��
�<���@
�,

(��������
��
(�"�!��
 130 �3���D�) 150 �3���D� 110 �3���D� 70 �3���D�

0.757 0.747 0.672 0.649TA (%)
���%�)�
���3���� (100) (99) (89) (86)

8.933 8.733 9.666 10.333TSS (���
3�,� �)
���%�)�
���3���� (100) (98) (108) (116)

11.76 11.65 14.43 16.09TSS/TA
���%�)�
���3���� (100) (99) (123) (137)
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%���> : ��
������I3 �9����%�) ��9��#@���
���3������9"��(�%3�#3�
�F���3���D��
�<���@
�, 
130 �3���D�

2.2.2.5 	�����*�4������ 45���
������'�9��D����-�0#�<>�����
�����	#��%������>�������%������9�� (yellow 

green group) �)���
���#� 144 A, B &�) C �=
��#3����9$�D�	#��%������>����@�0�����
!���&�� 
(red group) �)���
���#� 38 A B&�) C  !"� A B &�) C �9��)�#3��
���������� -�%�#��
����
�
�F���3���D�&����
��#����D����������'�9��&�)��9$�D�&����
��#����% ��9"����%��=
�#3�
�
��
������������9$�D� 03��
 (��������(�"���#��
�����
�F���3���D��
�<���@
�, 130 �3���D� 
�������9$�D��%������>����&������(�"�>� ��#� 38A (red group 38A) &�)�����'�9��	#��%������>����
���%������9�� ��#� 144B (yellow green group 144B) �@�����%��#3�#��
�����
�F���3 110 �3
���D�(�"������9$�D��%������>�����%��#� &�������'�9���%������>�������%������9�� ��#� 144A (yellow 
green group 144A) �#��
�����
�F���3 70 �3���D� ������9$�D��%������>����&����#� 39B  
(red group 39B) &�)���'�9��	#��%������>�������%������9�� ��#� 143B (yellow green group 
143B) �=
��#3�#��
�����
�F���3 150 �3���D�������9$�D��%������>����&���������%(�"�>� 37C  
(red group 37C) &�)�����'�9���%������>�������%������9�� ��#� 144C (yellow green group 
144C) (/
0(�" 16)
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  a) b)

       Yellow Green Group   144 B      Red Group   38 A

       Yellow Green Group   144 C      Red Group   37 C

       Yellow Green Group   144 A      Red Group   38 A

       Yellow Green group   143 B       Red Group   39 B


����� 9  ������'�9�� a) &�)��9$�D� b) ���D����-�0#�<>�����
����� (�"���#��
�����
�F���3
���D���
��#�
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2.2.2.6 8(��;��%�� �	;���������V+�� 45�	����	
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�@�3��
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��#�(
��
,�,�%�
����#%�=
�#� -�%(��������(�"���#��
�����
�F���3 70 �3���D� F��
�#3�)&����
�@�3��
���@
�,����>��(�
�#3 6.92 �)&�� (��
����'��$%�) ������
�9��#��

�����
�F���3 110 �3���D� &�) 150 �3���D� F���#3�)&���(�
�#3 5.96 &�) 5.00 �
��=
�#3 
(�'��$%�����
�) &�)(��������(�"F���3���D��
�<���@
�, 130 �3���D�F���#3�)&����
�@�3
��
���@
�,�"=
�>��(�
�#3 4.84 �)&�� (�'��$%�) (�
�
�(�" 13)
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��!��
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�F���3���D� ����#��*)��9$��#�D#����D����-�
0#�<>�����
����� 03��
 �#��
�����
�F���3���D���(>�(��������F��(=
����#��*)��9$��#�D#���
��
�&����
��#�(
��
,�, &��(��������(�"���#��
�����
�F���3 110 �3���D� F���#3�)&��
�#��*)��9$��#�D#�������
(���������9"��(�
�#3 4.78 �)&�� (������
��,"�) ������
�9��#��
����
�
�F���3 70 �3���D� &�)F���3���D��
�<���@
�, 130 �3���D� (�"���(�
�#3 4.36 &�) 
3.96 �
��=
�#3 (������
�&�I�&�)�,"�) &�)(��������(�"���#��
�����
�F���3 150 �3���D�F���#3
�)&���#��*)��9$��#�D#��"=
���
(���������9"�r �(�
�#3 3.80 �)&�� (������
�&�I�) (�
�
�(�" 13)

�������� 13  �)&����@
�, &�)��9$��#�D#����D����-�0#�<>�����
����� (�"���#��
�����
�F��
�3���D���
��#�

*    &����
�(
��
,�,�%�
����#%�=
�#�

ns   F������
�&����
��#�(
��
,�, �'��%3�(�%3��
�J��"%-�%�,<� LSD (�"�)�#3 P  ≤  0.05

(�������� �)&����@
�, �)&���#��*)��9$��#�D#�

F���3���D��
�<���@
�, 4.84 3.96
150 �3���D� 5.00 3.80
110 �3���D� 5.96 4.78
70 �3���D� 6.92 4.36

F-test * ns
C.V.(%) 19.86 20.33
LSD0.05 1.51 1.15


